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2. All guestions carry equal marks.

3. Only one answer is to be given for each question. If more than
one answers are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet. When you

are dirceted to open the Question Booklet, take out the Answer Sheet
and fill in the particulars carefully with Blue Ball Point Pen only.

5. Please correctly (i1l your Roll Number in OMR Answer Sheel.
Candidate will themself be responsible for filling wrong Roll No.

6. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

7. Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL POINT PEN.

8. If you are not attempting a question then you have to darken
the circle *5°. If none of the five circles is darkened,
one third (1/3) part of the marks of question shall be deducted.

* After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of [0 minutes beyond
scheduled time, is provided for this.

. A candidate who has not darkened any of the five circles
in more than 10% questions, shall be'disqualiﬁed.
I'1.If there is any sort of umhiOUity ‘mistake either of printing or

factual natuic then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

12. Mobile Phone or any other electronic gadget in the examination
hall is strictly prohibited. A candidate found with any of such
objectionable material with him/her will be strictly dealt as perrules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession. F.LR. would be lodged

against hiivher in the Police Station and he/she would liable to be
prosccuted under Rajasthan Public Examination (Measures for

Prevention of Unfair Means in Recruitment) Act, 2022 &

any other laws applicable and Commission’s Rules-

Regulations. Commission may also debar him/her permanently
from all future examinations.
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1.

In which direction a bedding plane
will show maximum amount of
dip ?

(1) 90° from strike direction

(2) 45° from strike direction

(3) Along the strike direction

(4) Both (1) and (3)

(5) Question not attempted

Which of the following is a linear
structure ?

(1) Fold Hinge

(2) Axaal Plane

(3) Cleavage Plane

(4) Slope

(5) Question not attempted

The prominent continuous joints
are called

(1) Plane joints

(2) Master joints

(3) Oblique joints

(4) Discontinuous joints

(5) Question not attempted

Which of the following method 1s
used for the structural analysis ?

(1) Theme projection

(2) Oldham projection

(3) Hess projection

(4) Stereographic projection
(56) Question not attempted
Dip of a bed is 47° — N 35° W. The
strike of the bed will be —

(1) N35°E

(2) N65°W

8) S35°E

(4) NSB5B5°E

() Question not attempted
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10.

A double hinged fold with sharp
hinges 1s called

(1) Dome
(2) Reclined fold
(3) Non periodic fold

Conjugate fold
Question not attempted

(4)
(5)
An unconformable surface formed
between the younger sedimentary
sequence and an older igneous
complex is known as :

(1) Disconformity
(2) Non-conformity
(3) Angular unconformity

Local unconformity
Question not attempted

(4)
(5)
Joints developed parallel to the
fold axis at the fold hinge are
called

(1) Shear joints
(2) Compression joints
(3) Flow joints

Tension joints
Question not attempted

4)
(3)
The point which separates the
convex and concave segments of
the fold line is called

(1) Axial plane

(2) Fold limb

(3) Inflection point
(4) Reverse point

(5) Question not attempted

A pattern made by numbers of
discontinuous parallel faults
overlapping each other is termed
as

(1) Enechelon pattern

(2) Radial pattern

(3) Normal pattern

(4) Abnormal discontinuous

pattern
Question not attempted
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15.

A fold in which axial plane is
inclined and both the limbs dip in
the same direction is called

(1) Overturned fold

(2) Eye fold

(3) Chevron fold

(4) Box fold

(5) Question not attempted

A fold having horizontal axial
plane is called

(1) Box fold

(2) Similar fold

(3) Parallel fold

(4) Recumbent fold

(5) Question not attempted

Point  located at maximum
curvature of a fold is called

(1) Crest

(2) Hinge

(3) Fold profile

(4) Trough

(5) Question not attempted

What  represents the total
displacement of formerly adjacent
points on opposite sides of the
fault ?

(1) Strike slip

(2) Net slip

(3) Dip slip

(4) Reverse ship

(5) Question not attempted

dominant
horizontal

A fault with
displacement n
direction is called

(1) Strike-slip fault
(2) Normal fault
(3) Reverse fault
(4) Oblique fault
(5) Question not attempted
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17.

18.

19.

20.

following ?

(1) Dyne

(2) Bar

(3) dJoule

(4) Faraday

(5) Question not attempted

Deformation of a body below elastic
Limit follows which of the following
law ?
(1)
(2)
(3)
(4)
(5)
Which of the following represents the
correct equation of determination of
Young's modulus ?

(E — Young’s modulus, ¢ — stress,
g — strain)

Boyle’s law

Hooke's law

Bode’s law

Le Chatelier’s law
Question not attempted

£
1 EB=%

c
(2) E= s
(3) E=gxo
@ B=%52

2

(5) Question not attempted

Joints with strike parallel to the
strike of the bedding plane 1s called

(1) Bedding joint

(2) Strike joint

(3) Dip joint

(4) Deformation joint

(5) Question not attempted

Ratio of transverse strain to axial
strain 1s called

(1) Young’s modulus

(2) Poisson’s ratio

(3) Elasticity

(4) Rigadity

(5) Question not attempted
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25.

structure 18 mnot useful 1n
determining order of superposition
of beds ?

(1) Oscillation ripple marks

(2) Graded bedding

(3) Cross bedding

(4) Axial plane

(5) Question not attempted

Which of the following
related to faulting ?

(1) Slicken sides

(2) Current bedding

(3) Mylonite

(4) Gouge

(5) Question not attempted

Which of the following planar
structure is generally developed
more or less parallel to the axial
planes of the folds ?

(1) Slaty cleavage

(2) Boudins

(3) Mineral growth

(4) Thrust plane

(5) Question not attempted

Schuppen structures are associated
with

(1) Normal faulting

(2) Reverse faulting

(3) Thrust faulting

(4) Recumbent folding

(5) Question not attempted

i1s not

Which of the following structure 1s
not a linear structure ?
(1) Slicken sides
(2) Boudinage
(3) Mullion
(4) Joint
(5) Question not attempted
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29.

30.

Which of the following is known as
French Satellite System ?

(1) Landsat

(2) Bhaskar

(3) AVHRR

(4) SPOT

(5) Question not attempted

The sensor used for measuring the
elevation of the earth’s surface is
known as :

(1) RADAR

(2) SONAR

(3) LiDAR

(4) Hyperspectral sensor

(5) Question not attempted

Global Positioning System (GPS) 1s
a satellite based system used for :
(1) Collecting satellite imagery
(2) Mapping land cover

(3) Identification of rock types

(4) Determining precise location
on Earth

Question not attempted

(5)
The process of combining multiple
remote sensing images of the same
area to create a single image with
improved quality is known as :

(1) Image interpretation

(2) Image registration

(3) Image fusion

(4) Image classification

(5) Question not attempted
Which of the following wave is
commonly used in remote sensing
to link between the sensor and
object ?

(1) P Waves

(2) X-rays

(3) Gamma rays

(4) Electromagnetic waves

(5) Question not attempted
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Which one of the following remote
sensing platforms typically
provides the Thighest spatial
resolution imagery ?

(1) Satellites

(2) Aircraft

(3) Ground-based sensors
(4) Unmanned Aerial
(UAVs)

Question not attempted

Vehicles

(5)

The process of creating three-
dimensional models of the Earth’s
surface using remote sensing data
1s known as :

(1) Dagital Elevation  Model
(DEM) generation

(2) Photogrammetry

(3) LiDAR

(4) Terrain analysis

(5) Question not attempted

In remote sensing, the term

“Spectral Resolution” refers to :

(1) The ability to distinguish
between different wavelengths
of light.

(2) The size of the pixels in the
image.

The accuracy of the positional
information in the image.

The ability to detect small
changes in reflectance values.

(3)

(4)

(5) Question not attempted
Which of the following spatial data
models  represents  geographic
features as discrete points, lines
and polygons ?
(1) Raster data model
(2) Vector data model
(3) TIN data model
(4) DEM data model
(6) Question not attempted
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36.

37.

38.

Which is a common application of
Geo-informatics in environmental
management ?

(1) Assessment of Vegetation

(2) Predicting stock market

trends

(3) Analysing consumer
behaviour

(4) Designing architectural
structures

(5) Question not attempted

What 1s the main advantage of

using hyperspectral remote

sensing ?

(1) It provides higher spatial
resolution.

(2) It allows for the detection of
emitted or reflected energy.

(3) It captures information across
a large number of narrow
spectral channels.

(4) It can penetrate through
clouds.

(5) Question not attempted

Which of the following is a

commonly used index in vegetation
analysis using remote sensing ?

(1) NDWI

(2) NDVI
(3) NDSI
(4) NDBI

(5) Question not attempted

Which of the following fields has

important application of remote

sensing ?

(1) Mineral Exploration

(2) Underground mine
development

(3) Mineral processing

(4) Metallurgy

(5) Question not attempted
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used for the monitoring of glacier
ice sheets ?

(1) Radiometry

(2) Spectroscopy

(3) LiDAR

(4) Synthetic Aperture Radar
(SAR)

(5) Question not attempted

What is the end product of

disintegration of 238U ?

(1) Z=07Ph +7 “He

(2) 298P + 6 ‘He

(3) 206Pp + 8 4He

(4) 206Pp + 6 4He

(5) Question not attempted

Contact Goniometer device is used

for —

(1) the measurement of
interfacial angle of a erystal

(2) the measurement of specific
gravity of mineral

(3) the measurement of
permeability

(4) the measurement of porosity

(5) Question not attempted

What is the primary advantage of

using SAR (Synthetic Aperture

Radar) in remote sensing ?

(1) It provides higher
accuracy.

(2) It allows for the detection of
emitted or reflected energy.

(3) It can penetrate through
clouds and vegetation.

(4) It captures information across
a wide range of spectral bands.

(5) Question not attempted
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44,

46.

é47.
mﬁuﬁﬁﬁfﬁﬁm%@ﬁag

Which of the following is not
hydrous silicate of magnesium ?

(1) Serpentine

(2) Sepiolite

(3) Vermiculite

(4) Pyrophyllite

(5) Question not attempted
Which 1is the most abundant
element in the Earth’s crust ?

(1) Silicon (S1)

(2) Oxygen (O)

(3) Iron (Fe)

(4) Aluminium (Al)

(5) Question not attempted

Isotopes have

(1) Same no. of protons &
neutrons.

(2) Same no. of protons but
different number of neutrons.

(3) Same atomic weight but
different number of neutrons
and protons.

(4) Same number of protons but
different number of neutrons
and atomic mass.

(5) Question not attempted

Miller system of Indices is used for
which of the following ?

(1)
(2)
(3)

To symbolise crystal face
To symbolise crystal lustre

To symbolise crystal
transparency

To symbolise crystal hardness
Question not attempted

(4)
(5)
How many minerals of hardness
scale are silicate minerals ?

(1) 5

s

(3) 4

(4 6

(5) Question not attempted
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48.

49,

51.

52.

Chlorite is a

(1) Neso silicate

(2) Phyllo silicate

(3) Tecto silicate

(4) Soro silicate

(5) Question not attempted

Which of the following mineral has
a silicate ring structure ?

(1) Beryl

(2) Hypersthene

(3) Muscovite

(4) Hornblende

(5) Question not attempted

Which mineral is used in Nicol
prism ?

(1) Quartz

(2) Calcite

(3) Topaz

(4) Diamond

() Question not attempted

Which of the following mineral
shows piezoelectric effect ?

(1) Biotite

(2) Hypersthene

(3) Quartz

(4) Hornblende

(5) Question not attempted

Which of the following is a biaxial
(+) mineral ?

(1) Nepheline

(2) Garnet

(3) Beryl

(4) Diopside

(5) Question not attempted

In paragenesis of pigeonite, which
of the following rock 1s not
associated ?

(1) Andesite

(2) Dacite

(3) Slate

(4) Meteorite

(5) Question not attempted
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55.

56.

57.

58.

The Earth’'s mantle is primarily
composed of which of the following ?

(1)
(2)
(3)
(4)
(3)

Basalt

Ultrabasic rocks
Granite

Gabbro

Question not attempted

Which of the following is not a major
element in the earth’s crust ?

(1)
(2)
(3)
(4)
®)

Which

Gold

Silicon

Aluminium

Oxygen

Question not attempted

of the following crystal

system are isotropic in nature ?

(1)
2)
(3)
4)
(6))

Triclinic system
Monoclinic system
Cubic system
Orthorhombic system
Question not attempted

Which of the following is sodium
mica ?

1)
(2)
(3)
(4)
(5)

In petrography interference colour

Biotite

Lepidiolite

Paragonite

Muscovite

Question not attempted

of a mineral is observed in —

(1)
(2)
(3
(4)
(5)

Ordinary light

Plane polarized light
Cross Nicol

Bertrand lens

Question not attempted
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60.

61.

62.

63.

of the following property ?

(1) Pyroelectricity

(2) Piezoelectricity

(3) Chatoyancy

(4) Vitro-electricity

(5) Question not attempted
Which of the following 1s
Chalcophile element ?

(1) Fe

@2 Si1

3) O

4) S

(5) Question not attempted
Which Isotope of Pb (Lead) is not
radiogenic ?

(1) 204Pb

(2) 206Pb

(3) 207Pb

(4) 208py,

(5) Question not attempted

What is the half-life period of
238U ?

(1) 4.5 x 10?2 years

(2) 4.3 % 109 years

(3) 17.1x 107 years

(4) 7.2x10°years

(5) Question not attempted

Different polymorphs of the same
substance exhibit -
(1) different physical properties

but identical chemical
properties

(2) different chemical properties
but identical physical
properties

(3) different physical and
chemical properties

(4) 1identical physical and

chemical properties
(5) Question not attempted
09
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65.

66.

67.

68.

69.

Which of the following mineral is
not found in rocks formed by silica
deficient magma ?

(1) Nepheline (2) Quartz

(3) Sodalite (4) Olivine

(5) Question not attempted

Which of the following alumino-
oxide has highest hardness ?

(1) Topaz

(2) Andalusite

(3) Beryl

(4) Corundum

(5) Question not attempted

Chemical composition of Spinel is

Mg — Al silicate

Mg — Al oxide

Mg, Fe, Al silicate

Mg, Fe, Al oxide
Question not attempted

(1)
(2)
(3)
4)
(5)
Which accessory of petrological
microscope provides Newton’s scale
of colours of mineral thin section ?
(1) Calcite wedge

(2) Quartz wedge

(3) Bertrand wedge

(4) Fluorite wedge

(5) Question not attempted

A crystal form consisting of only
one face is known as :

(1) Basal pinacoid

(2) Dome

(3) Pedion

(4) Sphenoid

(5) Question not attempted
Which of the following is
uniaxial positive mineral ?

(1) Quartz

(2) Calcite

(3) Hypersthene

(4) Muscovite

(5) Question not attempted
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72.

73.

74.

the geological and

geophysical evidences suggest that

ophiolite complexes represent

(1) Young orogenic activity

(2) Remains of stable Archaean
plutons

(3) Fragments of
continental crust

(4) Fragments of older oceanic
crust

(5) Question not attempted

older

Ignimbrites are :

(1) Volcanic bombs

(2) Welded tuffs

(3) Volcanic agglomerate
(4) Voleanic breccias

(5) Question not attempted

The lamprophyres characteristic-
cally exhibit

(1) Allotriomorphic texture

(2) Panidiomorphic texture

(3) Automorphic texture

(4) Hypautomorphic texture

() Question not attempted

Nephelinite is the  volcanic
equivalent of which of the following
rocks ?
(1) Nepheline syenite
(2) Melteigite
(3) Peridotite
(4) Ijolite
(5) Question not attempted
In the tectosilicates, the AIlSiO,
unit is found in
(1) Plagioclase feldspars
(2) Leucite
(3) Potash feldspars
(4) Nepheline
(5) Question not attempted
09
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75.

76.

q
=

78.

9.

The term “Pyroclastic” refers to :

(1) The formation of igneous
rocks through metamorphism

(2) The slow extrusion of lava
flows

(3) The explosive eruption of
volcanic ash and fragments

(4) The process of magma
generation

(5) Question not attempted

The silica content of a magma has
a direct influence on its :

(1) Grain size

(2) Texture

(3) Volume

(4) Viscosity

(5) Question not attempted

The term “laccolith” refers to :

(1) A voleanic cone

(2) A tabular horizontal intrusion

(3) A bun shaped intrusive body

(4) A vertical eylindrical
intrusion

(5) Question not attempted

Which of the following is a common
mineral in peridotite ?

(1) Quartz

(2) Olivine

(3) Calcite

(4) Chert

(5) Question not attempted

Aphanitic texture in igneous rocks
refers to :

(1) Fine-grained texture

(2) Coarse-grained texture

(3) Porphyritic texture

(4) Glassy texture

(5) Question not attempted




80.

81.

82.

33.

HiHICTge % T faaeflm 9e R

1)
2)
(3)
(4)
(5)

UHeETSe
RIGIET

el FTATEE
UHTATEE
FANE T

FATTEHIA WeeTel 1 Faels 8

(1)
(2)
(3)
(4)
(5)

TTSTITRe ST TR TETe ZRT ST
St =1 grgtfess g gfowem
herdr &1 SAiferfa g gfaeamm
e w1 sfifafan g gfaem
AR I

[

T 3 TS § Wegil 3TSchilshie

T g 8

(1) #99H Tree 39eTs T3 1

(2) HSEH IR qEhifcifes Te
(3) HEH foree Torasiys Teq o
(4) TS foheeet wd T} e
(5) TR ¥

Sy Siferehl 0 “TaifieRtor 61 aisw %1

ared = 8 7

(1) B o fasrelly et <6 o

(2) T % freeefiea 89 W 3EE @
Qi1 ST 37T 8T

(3) uftada & HTeAH | T @S 1 g
T gftgdq

(4) T ASHT HT 9T

(5) 3T T

! 80. Plutonic equivalent of phonolite is

1
H

!
i
H
|
i

R A S ————

i 05 ok s v 8 S AR s i Sttt s et e S B TP SRS o

ey
o]

81.

82.

83.

called .

(1) Essexite

(2) Theralite

(3) Nepheline syenite
(4) Rockallite

(5)

Question not attempted

The term Uralitization means :

(1)
(2)
(3
(4)
(5)

Replacement of pyroxene by
amphibole

Replacement of olivine by
pyvroxene

Replacement of felspar by
olivine

Replacement of amphibole by

olivine
Question not attempted

The common igneous texture term
Oikocryst means :

1)
(2)
3)
(4)

(5)

The process of ‘assimilation’

A host crystal in
allotriomorphic texture
A host phenocryst in poikilitic

texture

A host crystal n
hypidiomorphic texture
A host crystal n
panidiomorphic texture
Question not attempted

n

igneous petrology refers to :

(1)
2)

3)

(4)

(5)

The incorporation of foreign
material into a magma

The separation of minerals
from a magma as they
crvstallize

The transformation of one
mineral into another through
alteration

The weathering of igneous
rocks

Question not attempted
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86.

87.

88.

does not contain olivine ?

(1) Dunite

(2) Hazburgite

(3) Picrite

(4) Nepheline syenite

(5) Question not attempted
Rapakivi texture according to

mineral replacement is :

(1) Overgrowth of plagioclase on
alkali felspar

Overgrowth of plagioclase on
quartz

Overgrowth of alkali felspar
on quartz

Overgrowth of alkali felspar
on tourmaline

Question not attempted

(2)
(3)
(4)

(5)
What 1is the most
mineral in Anorthosite ?
(1) Anorthite

(2) Anorthoclase

(3) Aragonite

(4) Labradorite

(5) Question not attempted

Which of the following 1s not a
mineral intergrowth structure ?

(1) Graphic

(2) Perthitic

(3) Myrmekitic

(4) Perlitic

(5) Question not attempted
Spiliteisa _

(1) Silica-rich basalt

(2) Alumina-rich basalt

(3) Soda-rich basalt

(4) Biotite-rich basalt

(5) Question not attempted

abundant
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89.

90.

91.

92.

93.

Which of the following explains the

origin of Mid-oceanic ridge basalt ?

(1) Meteorite impact

(2) Mantle convection

(3) Mantle melting

(4) Metasomatism

(5) Question not attempted

The contact metamorphism 1s

characterized by

(1) High  temperature, high
pressure, low strain and
variable fluid pressure

(2) High temperature, low
pressure, low strain and
variable fluid pressure

(3) High temperature, low
pressure, variable strain and
variable fluid pressure

(4) High  temperature, high
pressure, high strain and high
fluid pressure

(5) Question not attempted

The “snowball garnets” are the

products of :

(1) Contact metamorphism
(2) Cataclastic metamorphism
(3) Dynamothermal
metamorphism
(4) Plutonic metamorphism
(5) Question not attempted
A megascopically foliated
metamorphic rock having bands of
different coloured mineral
composition are called as —
(1) Sandstone (2) Gneiss
(3) Phyllite (4) Norite
(5) Question not attempted
In the Q-A-P-F classification scheme
of igneous rocks ‘F stands for
(1) Fayalite (2) Felspar
(3) Feldspathoid (4) Forsterite
(5) Question not attempted
09
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95.

96.

97.

98.

99.

to designate, the mineralogical and
chemical composition of
metamorphic facies, the alphabet
‘A’ represents :

(1) AlOq

(2) Al,O3+ Fey03— NayO — K0
(3) Nay,O+ K,0

(4) AlL,05+ NayO — FeyO3 + CaO
(5) Question not attempted

Which type of rock develops due to
plutonic metamorphism ?

(1) Breccia (2) Granulite
(3) Slate (4) Phyllite
(5) Question not attempted

How many original metamorphic
facies were proposed by Eskola in
1920 ?

() 9 (2y b

(3 2 (4) 8

(6) Question not attempted
Which of the following

metamorphic facies represents the
highest temperature and pressure
condition ?

(1) Green schist facies

(2) Zeolite facies

(3) Glaucophane schist facies

(4) Eclogite facies

(5) Question not attempted

The pyroxene which is characteristic
of charnockite series is

(1) Daiopside (2) Enstatite

(3) Omphacite (4) Hypersthene
(5) Question not attempted

Greisening metamorphic alteration
is due to steam and

(1) Chlorine (2) Iodine
(3) Bromine (4) Fluorine
(5) Question not attempted
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rock that has undergone
cataclastic metamorphism would
most likely display which of the
following ?

(1) Preserved sedimentary beds
(2)
(3)
(4)
(%)

Crushed minerals

High temperature minerals
Large olivine crystals
Question not attempted

101. A line in the metamorphic terrain

102.

103.

104.

which  demarcates the  first
appearance of a new mineral phase
1s known as

(1) Isobar (2) Isopuch
(3) Isotope (4) Isograd
(5) Question not attempted
Polymorphic  transformation of

calcite to aragonite takes between
pressure range of —

(1) 0.0to 0.4 GPa

(2) 2.4to 3.4 GPa

(3) 1.4to2.4GPa

(4) 0.4to 1.4 GPa

(5) Question not attempted
Omphacite 1is associated with
which metamorphic facies ?

(1) Zeolite (2) Eclogite

(3) Prehnite (4) Granulite
(5) Question not attempted
Which of the following rocks forms
at the highest metamorphic
grade ?

(1) Chlorite schist

(2) Sillimanite schist

(3) Biotite gneiss

(4) Granulites

(5) Question not attempted
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105.

106.

107.

108.

109.

110.

Which of the following is an
example of bedding plane
markings or irregularities formed
on the base of the bed ?

(1) Load cast

(2) Ripple mark

(3) Rain prints

(4) Ball and pillow structure

(5) Question not attempted

Which one of the following is a
measure of the symmetry of the
distribution of grains ?

(1) Sphericity (2) Roundness
(3) Kurtosis (4) Skewness
(5) Question not attempted

Arkose i1s derived
disintegration of :

(1) Gabbro

(2) Granite

(3) Ultrabasic rocks
(4) Marble

(5) Question not attempted

According to Folk’s classification of
limestones, which of the following
does NOT  belong to the
“Allochems” ?

(1) DMicrites (2) Dolomate

(3) Oolites (4) Pellets

(5) Question not attempted

Which of the following feature is
not wuseful in the analysis of
sedimentary environment ?

(1) Primary structures

(2) Water chemistry

(3) Sedimentary textures

(4) Radioactivity of the sediments
(5) Question not attempted

Which of the following metamorphic
rocks form from a shale ?

(1) Schist (2) Polerite

(3) Peridotite (4) Rhyolite

(5) Question not attempted

from the
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112,

113.

114,

115.

116.

Which sedimentary structure is
not related to current action of
water ?

(1) Mud crack casts

(2) Load structure

(3) Ripple marks

(4) Cross bedding

(5) Question not attempted

Which mineral has
weathering potential index ?
(1) Olivine (2) Hornblende
(3) Orthoclase (4) Augite

(5) Question not attempted

Which of the following is not an
arenaceous sedimentary rock ?

(1) Arkose

(2) Sandstone

(3) Ortho quartzite

(4) Shale

(5) Question not attempted

The rock that formed by
disintegrative action of volcanic
explosion.

(1) Breccia

(2) Conglomerate

(3) Agglomerate

(4) Graywacke

(5) Question not attempted

Which one is not an example of
diagenetic fabric of limestone ?

(1) Granular cement

(2) Micro stylolites

(3) Fibrous calcite

(4) Drusy mosaic

(5) Question not attempted

Which one does not belong to Jingg
shape classes of the sediments ?

(1) Oblate (2) Uniaxial

(3) Prolate (4) Bladed

(5) Question not attempted

least
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117.

118.

119.

120.

The most predominant rock-type
found in Vindhyan basin is

(1 (2) Marble
3) (4) Basalt
(5) Question not attempted

What 1s the difference between a
breccia and a conglomerate ?

(1)

Sandstone
Dunite

Breccias are coarse grained
and conglomerates are fine
grained.
Conglomerates are coarse
grained and breccias are fine
grained.

(2)

Breccias have rounded
fragments and conglomerates
have angular fragments.

(3)

Breccias have angular
fragments and conglomerates
have rounded fragments.

4)

Question not attempted

(5)

A sandstone with abundant rock
fragments and clay minerals 1is
known as :

(1) Arkose
(2) Lithic arenite
(3) Quartz arenite
(4) Greywacke
(5) Question not attempted
Which of the following types of
bedding is characterized by
reversed forest laminae 1in one
coset ?
(1) Tidal bedding
(2) Herringbone bedding
(3) Flaser bedding
(4) Convolute bedding
(5) Question not attempted
O
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121.

122,

123.

124,

Which type of plate boundary is
associated with formation of
mountains ?

(1) Convergent boundary

(2) Transform fault boundary

(3) Divergent boundary

(4) Geographic boundary

(5) Question not attempted

The San Andreas fault 1in

California is an example of which
type of plate boundary ?

(1) Subduction boundary

(2) Divergent boundary

(3) Wrench fault boundary
(4) Transform fault boundary
(3) Question not attempted

The Hawaiian Islands were formed
by a hot spot located under which
tectonic plate ?

(1) Pacific plate

(2) North American plate
(3) Eurasian plate

(4) Alaskan plate

(5) Question not attempted

How the “Mass Movement” can be
described ?

{1) Excessive loss of material by
wind erosion.

(2) Downslope movement of rock
and soil under the direct
influence of gravity.

(3) Excessive loss of organically
rich top soil due to soil erosion.

(4) Flowage of saturated debris in
periglacial regions.

(5) Question not attempted
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125.

| 126.

127.

128.

129.

Which of the following i1s a
landform created by glacial activity ?
(1) Delta (2) Meander

(3) Karst (4) Moraine

(5) Question not attempted

The Dharwar craton in India 1s
characterized by the presence of

(1) Ophlohte sequences  and
volcanic island arcs

(2) Various grades of schists and
gneiss

(3) Thick sequences of
sedimentary rocks and coal
deposits

(4) Large-scale fault systems and
fold-thrust belts

(5) Question not attempted

The Main Central Thrust (MCT) 1s

an 1mportant tectonic feature

associated with which

Precambrian belt in India ?

(1) Aravalli — Delhi Mobile Belt
(2) Eastern Ghats Belt

(3) Purana Basin

(4) Lesser Himalayan Belt

(5) Question not attempted

The opening and closing of an

oceanic basin is known as

(1) Davisian cycle

(2) Wilson cycle

(3) Rayleigh cycle

(4) Denis cycle

(5) Question not attempted

The formation of the super

continent Pangaea occurred during
which geologic era ?

(1) Mesozoic Era

(2) Paleozoic Era

(3) Cenozoic Era

(4) Precambrian Era

(5) Question not attempted
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130.

131.

132.

133.

134.

135.

Wandering fragments of planetary
matter near the Earth are called
(1) Planet

(2) Meteorites

(3) Satellites

(4) Asteroids

(5) Question not attempted

Which of the following 1s a Jovian
planet ?

(1) Mercury

(2) Venus

(3) Jupiter

(4) Mars

(5) Question not attempted

Planet nearest to Sun is

(1) Mercury

(2) Venus

(3) Mars

(4) Earth

(5) Question not attempted

Who proposed the theory of
Nebular hypothesis for origin of
Earth ?

(1) Wilson

(2) Kant

(3) Hutton

(4) Taylor

(5) Question not attempted

Mohorovicic
between )
(1) wupper crust and lower crust
(2) crust and mantle

(3) mantie and core

(4) outer core & inner core

(5) Question not attempted

Loess 1s a non-stratified, well

sorted aeolian deposit composed of
grade fragments.

(1) sand (2) silt

(3) gravel (4) pebble

(5) Question not attempted

discontinuity  lies
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136. What is solifluction ?

137.

138.

139.

140.

(1) Flow of debris

(2) Flow of glaciers

(3) Flow of ground water

(4) Slow downslope flow of water
saturated regolith

(5) Question not attempted

Erosional landform associated with

glaciersis

(1) Drumlin

(2) Cirque

(3) Moraines

(4) Eskers

(5) Question not attempted

Ventifacts are formed by _

(1) Raver

(2) Glacier

(3) Wind

(4) Oceanic waves

(5) Question not attempted

When did Caledonian orogeny

started ?

(1) At the close of Permian period

(2) At the close of Jurassic period

(3) At the close of Cretaceous
period

(4) At the close of Cambrian
period

(5) Question not attempted

In which part of soil profile humus

is found ?

(1) ‘A’ Horizon

(2) ‘B Horizon

(3) ‘C Horizon

(4) Below ‘C’ Horizon

(5) Question not attempted
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141,

142.

143.

144.

145.

Density of inner core is

(1) 12.3 gm/em?
(2) 10.3 gm/cm?
(3) 13.0 gm/cm?
(4) 11.7 gm/em?
(5) Question not attempted

Who proposed the hypothesis of
seafloor spreading ?

(1)
(2)
(3)
(4)
(%)

Which of the following
example of transform fault ?

(1) Narmada rift valley

(2) African rift valley

(3) San Andreas fault

(4) Main boundary fault
(5) Question not attempted
Airy 1s
theory ?
(1) Isostasy

(2) Continental drift

(3) Plate tectonics

(4) Internal structure of Earth
(5) Question not attempted

Himalayan mountain belt
formed by _ .

Wegner

Harry Hess

Holmes

Hutton

Question not attempted

i an

associated with which

was

(1) Collision between two oceanic
plates

(2) Collision between two
continental plates

(3) Collision between continental
and oceanic plates

(4) Rifting

(5) Question not attempted
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147.

148.

149.

150.

Valley wider than width of
river.

Valley width & river width 1s
same.

Valley deeper than width of
river.

U-shaped valley

(5) Question not attempted

Who  proposed  double star
hypothesis of origin of the earth ?
(1) Lyttleton

(2) Schmidt

(3) Fred Hoyle

(4) Moulton and Chamberlin

(5) Question not attempted

Which of the following landform 1s
not related with river ?

(1) Ox-bow lake

(2) Gorge and Canyon

(3)
4)

(1)
(2)
(3)

(4)

River terrace
U-shaped valley
(5) Question not attempted

Who proposed the subsidence
theory for the origin of coral reefs ?
(1)
(2)
(3)
(4)
6)
Which type of eruption of volcanoes
are characterised by silent effusion
of lava and no explosive activity ?
(1) Vulcaman

(2)
(3)
(4)
(5)

Wegner
Darwin
Taylor
Wilson

Question not attempted

Hawaian

Plinian

Vesuvian

Question not attempted
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